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b= :e?:;esﬁlons (MCQ) Choose the correct option.
ot end-point Where__._two rays meet to form an angle is called |

e supplement of 1° is ey Wad
T e oue @
I1g. given at right, the value of x is

(b) 25° B

(d) 35° |
§os L aniin:
EmO B C

ngle is of 75°. Its complement is
| (b) 105° (c) 75° (d) 15°
les of a linear pair is 72°. The other angle is
(b) 108° (c) 144° (d) 18°

the following statements is/are “True’ or ‘False’ ?

sumof two angles which form a linear pair is always e

The complement of 90° is 90°.
e supplement of an acute an
e ment of a right angl

qual to 180

gle is always an obtuse angle.
e is also a right angle.

it :
e :uugf :,f two adjacent angles 18 supplementary. »
R - s di irs of angles are adjacent :
LRI win indicated pairs 0
ther the following | i) A 0
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4. From the given figure, answer the following (iuéstioﬁs :
() Do £ AOB and Z BOC form a linear pair ?

(it) Are £ AOB and Z COD vertically opposite angles ?
(ii) Do £ AOD and £ DOC form a linear pair ?

5. Write the complement of each of the following angles :

() 43° (it) 46° (ii1) 90° (iv) 72° (v) 29°
6. Write the supplement of each of the following angles :
(z) 109° (i) 121° (i) 143° (iv) 92° (v) 180°

7. Find the value of @ in each of the following :

[/ (it) /7{ (i17) (iv)

8. In the given figure, name the pairs of /—/

vertically opposite angles. A P 3] B
AN

\

— 8\3@. .

9. In the following figure, find the measure of other angles, if £1 = 50°.

10. Find the value of x in each figure :

@) — (ii)
> =105 _ 50

3r =207 =

11. Find the magnitude of an angle, which is

B _ :
(@) 3 of its supplement. (ii) % of its complement.

12. An angle is equal to its complement Find its measure.
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